

ABC Bid Data

DISTRICT 4 CHIP SEAL 2019 42314

NON-FEDERAL

PROJECT: DISTRICT 4 CHIP SEAL 2019

STATE PROJECT NUMBER: 42314

FED. PROJECT NUMBER: NON-FEDERAL

DATE BIDS OPEN: March 28, 2019, 2:00

SCOPE OF WORK: Roadway preservation (Chip Seal) on Various roadways.

COMPLETION DATE: September 27, 2019

LOCATION:

Awarded To: ALL STATES ASPHALT, INC.

325 AMHERST ROAD SUNDERLAND, MA 01375

Amount: \$1,293,997.39

Award Date:

Certified by: PETER.E.STAMNAS

Director of Project Development

Summary of Bidders

ContractorBid AmountRankALL STATES ASPHALT, INC.\$1,293,997.39A325 AMHERST ROAD, PO BOX 91, SUNDERLAND MA 01375

				P	PS&E		S ASPHALT, INC. ERST ROAD AND, MA 01375		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	842.70	\$80.00	\$67,416.00	\$89.50	\$75,421.65	
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	444.00	\$5.00	\$2,220.00	\$7.00	\$3,108.00	
410.72	CHIP SEAL SURFACE TREATMENT, RUBBER POLYMERIZED (F)	SY	101,955.00	\$5.25	\$535,263.75	\$4.75	\$484,286.25	
410.73	DOUBLE CHIP SEAL SURFACE TREATMENT (F)	SY	54,000.00	\$4.25	\$229,500.00	\$4.65	\$251,100.00	
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	36,541.00	\$2.12	\$77,466.92	\$2.25	\$82,217.25	
417.	COLD PLANING BITUMINOUS SURFACES	SY	7,420.00	\$8.00	\$59,360.00	\$3.25	\$24,115.00	
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	87.00	\$130.00	\$11,310.00	\$90.00	\$7,830.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	
618.7	FLAGGERS	HR	383.00	\$30.00	\$11,490.00	\$37.00	\$14,171.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$65,000.00	\$65,000.00	\$70,250.00	\$70,250.00	
632.01049	SHORT TERM PAVEMENT MARKINGS, 4" LINE	LF	114,135.00	\$0.12	\$13,696.20	\$0.18	\$20,544.30	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	11,414.00	\$1.50	\$17,121.00	\$2.10	\$23,969.40	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	58.00	\$8.25	\$478.50	\$11.00	\$638.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	217,182.00	\$0.50	\$108,591.00	\$0.47	\$102,075.54	
632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	73.00	\$2.75	\$200.75	\$7.00	\$511.00	
692.	MOBILIZATION	U	1.00	\$49,392.75	\$49,392.75	\$78,360.00	\$78,360.00	
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	8,400.00	\$1.00	\$8,400.00	\$1.00	\$8,400.00	

Totals:	\$1,303,906.87	\$1,293,997.39	
Alt. Totals:			
Totals:	\$1,303,906.87	\$1,293,997.39	



PS&E Comparison

DISTRICT 4 CHIP SEAL 2019 42314 NON-FEDERAL

				A-Bidder		PS&E		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	842.70	\$89.50	\$75,421.65	\$80.00	\$67,416.00	\$8,005.65
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	444.00	\$7.00	\$3,108.00	\$5.00	\$2,220.00	\$888.00
410.72	CHIP SEAL SURFACE TREATMENT, RUBBER POLYMERIZED (F)	SY	101,955.00	\$4.75	\$484,286.25	\$5.25	\$535,263.75	(\$50,977.50)
410.73	DOUBLE CHIP SEAL SURFACE TREATMENT (F)	SY	54,000.00	\$4.65	\$251,100.00	\$4.25	\$229,500.00	\$21,600.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	36,541.00	\$2.25	\$82,217.25	\$2.12	\$77,466.92	\$4,750.33
417.	COLD PLANING BITUMINOUS SURFACES	SY	7,420.00	\$3.25	\$24,115.00	\$8.00	\$59,360.00	(\$35,245.00)
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	87.00	\$90.00	\$7,830.00	\$130.00	\$11,310.00	(\$3,480.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	1,000.00	\$1.00	\$1,000.00	\$1.00	\$1,000.00	\$0.00
618.7	FLAGGERS	HR	383.00	\$37.00	\$14,171.00	\$30.00	\$11,490.00	\$2,681.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$70,250.00	\$70,250.00	\$65,000.00	\$65,000.00	\$5,250.00
632.01049	SHORT TERM PAVEMENT MARKINGS, 4" LINE	LF	114,135.00	\$0.18	\$20,544.30	\$0.12	\$13,696.20	\$6,848.10
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE		11,414.00	\$2.10	\$23,969.40	\$1.50	\$17,121.00	\$6,848.40
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	58.00	\$11.00	\$638.00	\$8.25	\$478.50	\$159.50
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	217,182.00	\$0.47	\$102,075.54	\$0.50	\$108,591.00	(\$6,515.46)

632.92	OBLITERATE PAVEMENT MARKING, SYMBOL OR WORD	SF	73.00	\$7.00	\$511.00	\$2.75	\$200.75	\$310.25
692.	MOBILIZATION	U	1.00	\$78,360.00	\$78,360.00	\$49,392.75	\$49,392.75	\$28,967.25
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1008.11	ALTERATIONS AND ADDITIONS AS NEEDED - UNANTICIPATED WORK	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	20,000.00	\$1.00	\$20,000.00	\$1.00	\$20,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	16,000.00	\$1.00	\$16,000.00	\$1.00	\$16,000.00	\$0.00
1010.21	ASPHALT CEMENT ADJUSTMENT FOR EMULSION	\$	8,400.00	\$1.00	\$8,400.00	\$1.00	\$8,400.00	\$0.00

Total: \$1,293,997.39 \$1,303,906.87 (\$9,909.48)

Monday, April 1, 2019 Page 4 of 4